1. Page 65, Figure 1, it should be +/- k, not +/- ¥

2. Page 66, the last row of the utility function for H should read:
X<X,,l=C,h=0
0if { w6 N=9
X>X,,l=C,h=0

3. Page 67, in the first full paragraph, it should read “all searches with x < (xy-k)”

4. Page 69, Proposition 2 should read
For1<v <5, UR(v)={x|x,  —k<x<x, }of{x|x, <x<x, +k}
Or, equivalently,

For1<v <5, UR(v) = ((Min(x,, X,  —k),max(x,,x, +k))

Hio-y

5. Page 71, in the first full paragraph, it should read “For any positive value of k<.5,” or
the word “strictly” should be dropped.



